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SN 2SS AT
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& 511 IDPEIS (29l &2
SN-F-B-2-2 0l &t o pIE-E" RS2
= o 14,717,555 11,170,010 3,547,545
SaHS2 2D 14,717,555 11,170,010 3,547,545
500 Ex= 14,717,555 11,170,010 3,547,545
510 2 DB X3S 7,686,484 5,679,607 2,006,877
511 202 X3S 7,686,484 5,679,607 2,006,877
511-01 2NLX2 931,300 662,000 269,300
OHSME 2EIH AT 237,500,0008 237,500 190,000 47,500
OO MAMAIE K4 8,800 0 8,800
OO EE sHMeIEy =g 15,000 0 15,000
O 24+ I AT 412,500,000% 412,500 223,500 189,000
OREAME YWALEY R4 AT 23,600,0002 23,600 59,600 36,000
ORSAME THAIAEY 75 45,000 0 45,000
511-02 2N DHLHS LN 2ES 3,877,000 2,177,000 1,700,000
O2ERILSANE He 500,000 0 500,000
OFYBTEAHT 2 1,200,000 0 1,200,000
511-03 013 2,878, 184 2,840,607 37,577
OLYRZ 2532 Al 36,000 0 36,000
Osgesog 23 161,555,0008! 161,555 159,978 1,577
520 Al - SHIEZ3S 7,031,071 5,490,403 1,540,668
521 Al - SHIEZE3S 7,031,071 5,490,403 1,540,668
521-01 Al - SHIREZS 7,031,071 5,490,403 1,540,668
ORYJTTHT Y 900,000 0 900,000
OZHRD2HNE He 100,000 0 100,000
O3 24+ I 2% 151,250,0002 151,250 110,750 40,500
ORSAME ALY 75 18,000 0 18,000
ORSAME SWALY RR24 I 11,800,000% 11,800 29,800 £18,000
OEXE 231 24 2 148,050,000% 148,050 50,000 98,050
ONSYSZNY S ALY AT 44,400,000% 44,400 55,500 A11,100
OBDNASET ESAL 33 17,077,000% 17,077 24,750 AT7.673
Osges08 2 15,397,0002 15,397 16,206 £809
OS= HENSH(BSA HSH) X 10,000 0 10,000
ODMOIEHE ALY (REAL) 200,000 0 200,000
OSgP2 H&EN JLEZHS 18,000 0 18,000
O/= D2 0(0IE0 2 MEHS HAAZE 2|08 20,000 0 20,000
OE=dEHSHE HE 40,000 0 40,000
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